Chapter 1 FRACTIONS

*¢ Important points

e A fraction is a part or parts of a whole .
numerator

e A fraction is written in the form of ————
denominator

e The numerator represents the number of parts being referred to

¢ The denominator represents the total number of equal parts of a whole

¢ Equivalent Fractions : Fractions that represent the same part of the whole
are called equivalent fractions

e Like Fractions: Fractions with the same denominator are called like
fractions .

e Unlike Fractions: fractions with different denominators are called unlike
fractions.

e Proper fractions: fractions whose numerator is less than the denominator
are called proper fractions . They are always smaller than 1.

e Improper fractions : Fractions whose numerator is greater than or equal to
the denominator are called improper fraction . They are always greater than
orequaltol

e Mixed Fractions : Fractions that can be expressed as a whole number and a
proper fraction is called a mixed fraction .Mixed fraction is always greater
than1

Exercise—1
1 write the following fractions in numbers :
a) two - fifths =
b) one —sixth =

o IR

f ) one quarter = %

Practice ¢, d ,ein rough copy



Exercise-2
1. (a) %, % yes, the fractions are equivalent.

(b) % %, no, the fractions are not equivalent.

5 6 6><. 42
= (b)
30 30=:(5] ¢ 7 7x[7] 49
 @3.3x2_6 .3 _3x3_9 3_3x4_12 3_3x5_15

5x2 10 ° 5 5x3 15" 5 5x4 20°5 5x5 25

The first five fractions equivalent to 33 6 9 1215

510" 15" 20" 25°

(b) _2__2)(2_4 2_23'(3_6

7 7x2 14" 7 7x3 21’

5

2_2x4_8 2_2x5_10
7 7x4 28"7 7x5 35
2 2 4 6 8 10
7
2
6
5

The first five fractions equivalent to

are 7. 14 21’ 28" 35

5x4 _20 5_5x5_25
6x4 24" 6 6x5 30

5 5 10 15 20 25
The first five fractions equivalent to 6 € 6" 12’ 18" 22’ 30 °

L_4x2 8 4_4x3 _12 4_4x4 _16 4 _4x5 _20

11 11x2 22° 11 11x3 33°11 11x4 44’ 11 11x5 55

The first five fractions equivalent toiare 4 b 8 . 12, 16, 20.
11" 22" 33" 44" 55

6 6x2 12’ 6 6x3 18’




. (a)

4. (a) 21 _3x7 9 _3x3 3_3x1 12_3x4
' 49 7x7" 21 7x3" 7 7x1" 21 7x3
So, E is not equivalent to others.
(b) 15 _5x3 5_5x1 45_5x9 10 _5x2
27 9x3" 9 9x1" 72 9x8" 18 9x2
So, 45 |

5 is not equivalent to others.

© 18 _3x6 3_3x1 9 _3x3 15_3x5
20 4x5° 4 4x1’ 12 4x3’ 20 4x5

So, % is not equivalent to others.

(d) 14 _1x14 1_1x1 6 _1x6 3 _1x3
70 5x14’ 5 5><1 15 5x3° 15 5x3

So, %is not equivalent to others.

3_3><5_15
7 7x5 35

So, ;—5 is an equivalent fraction of ; with numerator 15.

3 3x6 18
b) == =—
®) 7 x6 42




(d)

6. (a)

(b)

(c)

_3x11_33
7 T7x11 77

So, % is an equivalent fraction of % with denominator 77.

Cross multiply the numerator of the 1st fraction with the
denominator of the 2nd fraction and the denominator of the 1st
fraction with the numerator of the 2nd fraction.

We have, — and 16 3 16

8 24 8 24
—=>3x24=72, 8x16=128

So, § and ;2 are not equivalent fractions.

2 10
5 25

= 2x25=50, 5x10=50 .. % and — ,I'Ig are equivalent fractions.

42

6
7 49

= 6x49=294, 7x42=294 .. g and % are equivalent fractions.

Exercise-3

We first find the HCF of 48 and 64.

Factors of 48 are @,@, 3,@, 6,, 12, @ , 24,48,
Factors of 64 are @,@,@,, @ , 32,64,

Common factorsare 1, 2, 4, 8, 16.

- HCF=16

So, we divide 48 and 64 by 16.

48
64

_48+16 _3
64+16 4

Thus, % in the lowest terms is 3.

15
20

3. 35

45

15+5 3

=m=z (HCFOf]Sand20=5)

35+5 7

=t (HCF of 35 and 45 = 5)



10.

11

12.

1.

2

3 63=7_09 (HCF of 49 and 63=7)
12_12:6_2 _
1818263 (HCF of 12 and 18 = 6)
36 _36+9_4 (HCF of 36 and 81=9)
81 81+9 9

22 _22-11 _2 (HCF of 22 and 121 =11)
121 121+11 11

42 _42+6 _7 _
T ¢ s (HCF of 42 and 48 = 6)
24 248 _3 B
32 -30-8 4 (HCF of 24 and 32 =8)
8 B+ 17 ( HCF of 85 and 100 = 5)

100 100+5 20

75 75+5 1
’0 = =77 HCEF of -
80 80+5 16 (HCF of 75 and 80 =5)
25 25+5_5 i
40 40=5_ 8 ( HCF of 25 and 40 = 5)
Fun Time
. 2 3 4 ‘ | .
The fraction=1= 7-3- 1 =... looks same even if we turn it upside
down.
Exercise-4

2 , i, Q, 11 _.d 2 arelike fractions with same denominator 7.
77 7 7 7

(a) numerator < denominator, it is a proper fraction.

(b) numerator >denominator, itis an improper fraction.
(¢) numerator < denominator, it is a proper fraction.

(d) numerator >denominator, it is an improper fraction.
(e) numerator < denominator, it is a proper fraction.

(f) numerator < denominator, it is a proper fraction.

(g) numerator < denominator, it is a proper fraction.

(h) numerator > denominator, it is an improper fraction.
(i) numerator < denominator, it is a proper fraction.

(j) numerator > denominator, it is an improper fraction.
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7 7l15
-14
1
4
4)18
~16
2
8
5[44
—40
4
1 8
2 2] 17
~16
1
4 8
8_
11 11} 92
-88
4
3x1+2 _ 3+2 _
3 3
5x3+3 _ 15+3
5 5
7x2+2 _ 14+2
7 7
2x4+1 _ 8+1 _
2 2
9x2+1 _ 18+1
9 9
4x8+3 _ 3243
4 4
5x7+2 35+2
5 5

(d)
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(h)

(i)

()

. (a)

(b)

(d)

(e)

(h)

93 _ 7x9+3 _ 63+3 _ 66
7 7 7 7
57 _ 9x5+7 _ 4547 _ 52
9 9 9 9
62 = 8x6+5 _ 48+5 _ 53
8 8 8 8

Exercise-5

3 g, The fraction with greater numerator is greater for like

fractions.

11 10 4 4

12 12 © 5 El 5

; % , The fraction with smaller denominator is greater for

unlike fractions with same numerator.

16 16 1 1 2 4 2 4
e e (f -_— - )_ _;10<121 r — —
53 )126(g3><5 5035
5 20 5 20
= , 115 <180, so, — —
> so, 5 I<] 53

. (a) The fraction with greater numerator is greater for like fractions.

12 3 4 6
7 7 7 7 <73

(b) The fraction with smaller denominator is greater for unlike

(c)

fractions with same numerator.

5 _5_5_5_5
"2 9 7 5% <3

1 57 31 are unlike fractions. So, we convert them

3"6" 12" 4" 2
into like fractions first.

Multiples of 3 are 3, 6, 9, @, 15, 18.
Multiples of 6 are 6, (12), 18, 24, 30, 36.
Multiples of 12 are(12), 24, 36, 48, 60, 72.
Multiples of 4 are 4, 8,(12), 16, 20, 24.
Multiples of 2 are 2, 4, 6, 8§, 10,®.
LCM of 3, 6,12, 4 and 2 is 12.



1 _1x4 _ 4 5 _ 5x2 _ 10 7 _ 7x1 _ 7
3 3x4 12’ 6 6x2 127 12 12x1 12’
3 _3x3_9 1 _1x6 _ 6
4 4x3 127 2 2x6 12°
4 6 7 9 10
Now — 2 L < Z =V
YN 12 1212 12
1 1 7 3 5
3212571 < %
3. (a) g > g > % > % > % ('6>5>4>3>1)
(b) %, %, %, % are unlike fractions, so, we convert them into
like fractions first.

LCMof 6,9, 36,4 =36

2 _5x6 _ 30 3 _ 3x4 _ 12 17 _ 17x1 _ 17
6 6x6  36° 9  9x4 _ 36" 36  36x1 _ 36’
9 _9x9 _ 81
4 4x9 36
81 30 _ 17 _ 12 9 5 _17_3
36 36 36 3 O 476369
8 8 8.8._8
8 .8 _8,8.8 - 3<5<6<7<9
@ 3>5>%67779 ( )



